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QUESTION 1

Which statement about access lists that are applied to an interface is true? 

A. You can place as many access lists as you want on any interface. 

B. You can apply only one access list on any interface. 

C. You can configure one access list, per direction, per Layer 3 protocol. 

D. You can apply multiple access lists with the same protocol or in different directions. 

Correct Answer: C 

 

QUESTION 2

A router has been configured to provide the nine users on the branch office LAN with Internet access, as shown in the
diagram. It is found that some of the users on the LAN cannot reach the Internet. 

Based on the topology and router output shown, which command should be issued on the router to correct the
problem? 

A. Branch(config-if)# no shutdown 

B. Branch(config-if)# duplex full 

C. Branch(config-if)# no keepalive 

D. Branch(config-if)# ip address 192.168.10.30 255.255.255.240 

E. Branch(config-if)# bandwidth 100 
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F. Branch(config-if)# encapsulation 802.3 

Correct Answer: D 

 

QUESTION 3

What are three values that must be the same within a sequence of packets for Netflow to consider them a network flow?
(Choose three.) 

A. source IP address 

B. source MAC address 

C. egress interface 

D. ingress interface 

E. destination IP address 

F. IP next-hop 

Correct Answer: ADE 

Each packet that is forwarded within a router or switch is examined for a set of IP packet attributes. These attributes are
the IP packet identity or fingerprint of the packet and determine if the packet is unique or similar to other packets.
Traditionally, an IP Flow is based on a set of 5 and up to 7 IP packet attributes. 

IP Packet attributes used by NetFlow: 

IP source address IP destination address Source port Destination port Layer 3 protocol type Class of Service Router or
switch interface 

All packets with the same source/destination IP address, source/destination ports, protocol interface and class of
service are grouped into a flow and then packets and bytes are tallied. This methodology of fingerprinting or determining
a flow is scalable because a large amount of network information is condensed into a database of NetFlow information
called the NetFlow cache. 

Reference: http://www.cisco.com/c/en/us/products/collateral/ios-nx-os-software/ios-
netflow/prod_white_paper0900aecd80406232.html 

 

QUESTION 4

Instructions 

Enter Cisco IOS commands on device to verify network operation and answer for multiple-choice questions. 

THIS TASK DOES NOT REQUIRE DEVICE CONFIGURATION. 

Click the device icon to gain access to the console of the router. No console or enable passwords are required. 

To access the multiple-choice questions, click the numbered boxes on the left of the top panel. 

This task has four multiple-choice questions. Be sure to answer all four questions before clicking the Next button. 
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Scenario 

You are implementing PPP over serial links between R1 router and branch offices. In Phase 1 you must implement and
verify PPP and GRE tunnel configurations as mentioned in the topology. In Phase 2 your colleague is expected to do 

NAT and ISP configurations between R1 and ISP router. 

Identify the issues that you encounter during PPP over serial links implementation. 

Routers Branch1, Branch2, and Branch3 connect to Router R1 in the main office over serial links. 

PPP multilink implementation is recommended between R1 and Branch1 routers. 

The GRE tunnel is configured between R2 and Branch2 routers, and traffic between Server farm1 10.10.10.0/24
network and Branch2 LAN 10.10.20.0/24 network, is routed over GRE tunnel using static route. 

You have console access on R1, R2, Branch1, Branch2, and Branch3 devices. Use only show commands to
troubleshoot the issues. 

Why is the Branch2 network 10.10.20.0/24 unable to communicate with the Server farm1 network 10.10.10.0/24 over
the GRE tunnel? 

A. The GRE tunnel destination is not configured on the R2 router. 

B. The GRE tunnel destination is not configured on the Branch2 router. 

C. The static route point to the tunnel0 interface that is misconfigured on the Branch2 router. 
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D. The static route points to the tunnel0 interface that is misconfigured on the R2 router. 

Correct Answer: C 

The Branch2 network is communicating to the Server farm, which is connected to R2, via GRE Tunnel so we should
check the GRE tunnel first to see if it is in "up/up" state with the "show ip interface brief" command on the two routers.
On Branch2: 

On R2: 

We see interfaces Tunnel0 at two ends are "up/up" which are good so we should check for the routing part on two
routers with the "show running-config" command and pay attention to the static routing of each router. On Branch2 we
see: 

The destination IP address for this static route is not correct. It should be 192.168.24.1 (Tunnel0\\'s IP address of R2),
not 192.168.24.10 -> Answer C is correct. 

Note: You can use the "show ip route" command to check the routing configuration on each router but if the destination
is not reachable (for example: we configure "ip route 10.10.10.0 255.255.255.0 192.168.24.10" on Branch2, but if 

192.168.24.10 is unknown then Branch2 router will not display this routing entry in its routing table. 

Note: The IP address or configuration may be different in the exam. 

 

Latest 200-105 Dumps | 200-105 PDF Dumps | 200-105 Braindumps                                5 / 7

https://www.passapply.com/200-105.html
https://www.passapply.com/200-105.html
https://www.passapply.com/200-105.html


https://www.passapply.com/200-105.html
2021 Latest passapply 200-105 PDF and VCE dumps Download

QUESTION 5

While troubleshooting a connection problem on a computer, you determined that the computer can ping a specific web
server but it cannot connect to TCP port 80 on that server. Which reason for the problem is most likely true? 

A. A VLAN number is incorrect 

B. An ARP table entry is missing 

C. A route is missing 

D. An ACL is blocking the TCP port 

Correct Answer: D 
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